

novs1-2**Resuelve estas operaciones aplicando la propiedad distributiva:**

Resuelve: $(2 - 4) \cdot (5 + 2 - 9) =$	Resuelve: $(4 - 1 + 3) \cdot (1 - 7) =$
Resuelve: $3 \cdot (2 - 4) - 4 \cdot (5 + 2 - 9) =$	Resuelve: $1 + 2 \cdot (-2 + 6) - 5 \cdot (3 - 2 + 7) =$
Resuelve: $\frac{2}{4} - \frac{6}{12} \cdot \left(2 - \frac{1}{3}\right) - 3 \cdot (6 - 2 \cdot 7) =$	Resuelve: $\frac{3}{6} - \frac{8}{12} \cdot \left(10 - \frac{8}{3}\right) - \left(\frac{2}{3} - 2 \cdot \frac{7}{4}\right) =$
Resuelve: $\frac{2}{9} - \frac{4}{6} \cdot \left(\frac{5}{4} - \frac{8}{10}\right) - \left(\frac{2}{3} : 6 - 2 \cdot \frac{7}{4}\right) =$	Resuelve: $\frac{1}{8} \cdot \frac{3}{2} - \frac{12}{8} \cdot \left(4 - \frac{15}{8}\right) - \left(\frac{1}{4} : \frac{2}{6} - 5 \cdot \frac{3}{4}\right) =$